STATIC PRESSURE RATINGS

J. C. VOELKEL

DESIGN PRESSURE(PSF): +11.4/-12.7

APPROVED SIZES ,
MAX WIDTH: 12'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

7 I

\
\\éohn
3 hristian
-._\rg@jkel

Digitally signed
by John
Christian Voelkel
Date: 2021.05.03

10:37:51-05'00' THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

8 7 6 5 4 3 2 | 1
REVISIONS
[> NOTES ® ] DATE APPROVAL |
. [Wioos v 171572081 | TLC
1. STANDARD GLAZING OPTION — .125 WLOoS
MINIMUM DSB GLAZING MEETS UNIFORM STATIC v jaz2z/21 1 TLC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70" AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES 13 GA HORIZ ANGLE
NOT MEET THE REQUIREMENTS FOR \
WIND—BORNE DEBRIS REGIONS.
2. ALUMINUM FULL VIEW OPTION — ALUMINUM ¢ DOOR
FULL VIEW SECTION MAY REPLACE ANY |
ECTION EXCEPT TOP AND BOTTOM PANELS. 15 GA MIN HORIZ
ALUMINUM FULL VIEW SECTION SHALL HAVE TRACK ﬂ
RAILS AND STILES OF EXTRUDED ALUMINUM -
ALLOY 6083-T6 WITH A 2—1/4" INTEGRAL FIN 13 GA CONTINUOUS W .
AND .125" MINIMUM DSB ANNEALED GLAZING WALL ANGLE H L
INSTALLED WITH ALUMINUM RETAINERS IN i |
ORDER TO MEET UNIFORM STATIC DESIGN g
PRESSURES SHOWN ON THIS DRAWING. AFV 15 GA MIN VERT 0
PANEL SIZE IS 46.5"x21.9° (MAX). GLAZING IS TRACK M <->
NOT IMPACT RESISTANT AND DOES NOT MEET &
THE REQUIREMENTS FOR WIND—BORNE DEBRIS o
REGIONS. 5,/16"1-5,/8" —_ 20 GA CENTER STILE
LAG SCREW AT EACH N a °
3. MINIMUM_OF 1" OVERLAP ON BOTH JAMBS HOLE LOCATION FOR
REQUIRED TO MEET NEGATIVE DESIGN WOOD SUBSTRATE. SEE W ﬁ/
PRESSURES. SHEET 3 FOR MOUNTING - yo
TO OTHER SUBSTRATES. ) -
4. SUDE LOCK OR OPERATOR REQUIRED. i = LD
5. SECTION STEEL TO HAVE THE FOLLOWING )
MINIMUM_THICKNESS: )
421, 423 — 20 GA 1/4-20x9,/16" TRACK— 1 o]
427, 429 — 24 GA BOLTS AND 1/4—20 HEX i L
434, 438 — 25 GA NUT AT EACH TRACK H |
CLIP LOCATION 20 GA END STILE : o
6. THE DESIGN OF THE SUPPORTING (SEE DETAIL A SHEET 3) s TYP H
STRUCTURAL ELEMENTS SHALL BE THE H T
RESPONSIBILITY OF THE PROFESSIONAL OF _/ H / Y
RECORD FOR THE BUILDING OR STRUCTURE 11 GA TRACK CLIPS M ; ﬁ______-/
AND IN ACCORDANCE WITH CURRENT BUILDING (WELDED, BOLTED, OR \ ;
CODES FOR THE LOADS LISTED ON THIS RIVETED TO WALL [ /
DRAWING. ANGLE) SEE NOTE 7 AND = AP
7. TRACK CLIPS SHALL BE LOCATED WITH DETAL F SHEET 3 l I
. TRA Al A
CENTERUINE OF BOTTOM CLIP SPACED 10" s(';"gﬁ. ',;ggﬁ"ggf v';:lNTHD — D« o]
MAX FROM BOTTOM OF TRACK AND REMAINING OPERATOR — SEE NOTE 4) l i e
TRACK CLIPS SPACED AT 24" 0.C. MAX. bt
SPACING BETWEEN TOP TRACK CLIP AND ™k °
SPLICE PLATE SHALL BE 30" 0.C. MAX. -i
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO H TN
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. l — (o)
REFER TO JAMB CONNECTION SUPPLEMENT AR )
FOR ATTACHMENT TO SUPPORTING Ked <
STRUCTURE. )@- =
M
| 1
NOTE:  (4) SECTION SOLID DOOR l %
SHOWN. SEE SHEET 2 FOR U-BAR D
LOCATIONS ON DOORS WITH OTHER A 0
SECTION QUANTITIES AND SEE NOTES 1 21
SUPERIMPOSED DESIGN PRESSURE & 2 THIS SHEET FOR GLAZING \SEET 9 '
LOADS ON SUPPORTING STRUCTURE >
A, | DOOR | MAX UNIFORM LOAD EACH JamB
o | HEIGHT (PLF)
12'-2"| ALL +69.4/—77.3

T TRAVIGS 0 AL TR De Ty FRERIETART PRIPERTY [ [VEREAS TR CORPIRATIN W0 TTS T ATED COPiES
AD Detrwr n.mvm.:mmpm,mum:mm:nJumwnmmmrum:vmun:mmvmmw INEREAD 1R CIRPORATION 6 DISCLONRE D
A OF TS JRAVD K ETRATIN 15 IVENDCD 70 PCRATE S  LICONSE 0% AVMRIZATION 10 USE I FIR b PRPDSE VITUT THE SPECY I VRITTEN CHRGONT ¥ DVEREAD SIK CORPGRATIN
—L lNu.nAn, OPTION CODE 2020

™ Cark | 118721 SERIES 421/423/427/489/434/436,

v wa vies |VER 500 +008/-003 | $ag [y oF e TAN 114721 il it

g o b B R o B D-411789

meEs i5 | EA TOARK | 427721 oA Temi e


chris
Texas


1/4—20x9,/16" TRACK BOLT
AND 1/4—20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP.

12 GA COMMERCIAL TOP FRAME - N
BRACKET WITH 13 GA ROLLER re .
CARRIER ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

2" STEEL ROLLER WITH

5-1/8" STEM AND 7/16" ;
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX i
BETWEEN PUSHNUT AND
BRACKET OR HINGE

13 GA WIDE BODY END
HINGES EACH ATTACHED

WITH (4) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS

14 GA WDE BODY
INTERMEDIATE HINGE

ATTACHED WTH (4) /
1/4—14x7/8" SELF ya
DRILLING CRIMPTITE e
SCREWS SOLID SECTION

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS (2 THROUGH
STRUT AND BRACKET)

STATIC PRESSURE RATINGS APPROVED SIZES

DESIGN PRESSURE(PSF): +11.4/—12.7 [MAX WIDTH: 122

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8 7 |

" '99.'- ... é‘l

1 4—14x7/8" SELF DRILLING
MPTITE SCREWS

HALF HINGE

(2) 1/4 x 1/2°
CARRIAGE BOLTS AND
1/4" FLANGE NUTS

.9
J. € VOELKEL

ATTACH U-BARS WITH
(2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

TPEMVWMBALLDTIERM \TIN CONTAINED
AND INFDRMATIDI III!]NPART,HAYNDTEI‘.BPIEIIINMVHMIERIR
ANVD'TIHSMVMEIR IS INTENDED TD

133174 -'Q'

1,04/, go.'

‘\:\& S‘QE.‘\.I% V\Gi-

\\ IONA\-a -
\\\\s

(12) SECTION DOORS WITH:
(8) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH

(7) 3" 20 GA 80 Ksl

U—BARS

LOCATED AS SHOWN

(10) SECTION DOORS WITH:
(6) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(6) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WI
(5) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(4) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH
(4) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(3) 3" 20 GA 80 KSI U—BARS
LOCATED AS SHOWN

(4) SECTION DOORS Wi
(2) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

DISCLOSED TO ANYONE WITHOUT THE PRIOR WRITTEN CONSENT OF
[PERATEASALMISE[RMII‘H[R]ZATII]NTDUSE]'I'FIRMNPIRPBIV'IHI‘.II'I'THESPEW

mrﬁmmrmnrwmmmmmmmmmm

COMPANIES.
MAT.IDN. NO nm.usun: OF
OF OVERHEAD DODR

IC_VRITTEN CONSENT CORPORATION.
DATE DRAVING TITLD
1/14/21 ERIES 45 u@"z‘?}qzs/qaqnas.
HJ‘:';:RK .4/-127 PSF, 1227 MAX
J QIAN 1/14/21 TG
PrRIvED BN e D- 411789
T CLARK | 4/27/21 ko N/A [ssie = 3



chris
Texas


8 7 6 S 4 3 e 1
MIN 3/16" THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: E60XX MIN. DLO= 5"X20"
TRACK CLIP
N OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4-20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—-20x7/8"
TRACK BOLT AND SELF DRILLING SCREW WITH 1" O.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEE| DETAIL
RUBBFR FRAME_GASKET
(NON—INSULATED DOORS)
5/16"x 1-!
EW AT
LOCATION
SUBSTRAT
FDAM TAPE :RAMCKNC:PWALL AN
BUTYL TAPE - 2) 1/4—20x9,
A7 swarsEad PLASTIC FRAME %ﬂg :‘w

LOWER INT. RAIL
~N

STATIC PRESSURE RATINGS

APPROVED SIZES

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

3/8° SMPSON TITEN HD,
2-3/4" MIN_EMBED INTO
MIN 2000 CON
AT EACH HOLE OR PAIR
OF HOLE LOCATION

% DRAVINGS AND ALL OTHER INFORMATION
ANY DF THIS DRAVING DR

CONT/

BUTYL TAPE
FDAM TAPE
VIEW
CONTINUOUS
WALL ANGLE . TRACK
/ N
(2) 1/4" X 7/16{ \
SEMI ‘TUBULAR | __—
RIVITS OR (2) | ;
1/4"—20 TRACK \ !
BOLTS WITH NUTS" /
OR (2) .28" DIA >"\TRACK
RESISTANCE SPOT 1. cLP
WELD!
DETAIL F
=<t OF TN\
- P:‘ esec00, * \
o AV e iAW
P %'_.- °._.\S‘ )
F . * "
£ 2
4 J.C.VOELKEL ¢

DESIGN PRESSURE(PSF): +11.4/-12.7

MAX WIDTH: 12'-2"

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24

8

=

| WOx/CEN

TRACK CLP

1/4-20x0/16"

1/4-20 HEX WU EACH HOLE OR PAI
TRACK LEU OF WELDING

126A_SCAB BRACKETS (OPTIONAL)
© 12° SPACNG SECURED TO WALL

" |/ TANGLE WITH 1/4-20 TRACK BOLT

3/8" SNPSON TITEN HD,
2-3/4" N ENBED INTO
MIN 2000 PSI_CONCRETE

AND 1/4—20 FLANGE NUT

QPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH NIN. (1) 1/4—20x7/8"
DRILLING SCREW WITH 1° 0.0. WASHER AT

IR OF HOLE LOCATIONS IN

AINED HEREIN ARE THE AND PROPRIETARY PRIPERTY OF OVERHEAD DODR CORPORATION AND ITS AFFILIATED COMPANIES. THIS DRAWING
INFORMATION, IN VHOLE OR IN PART, MAY NOT BE COPIED IN ANY MANNER OR TO ANYONE WITHOUT THE PRIDR VRITTEN CONSENT OF OVERHEAD DOOR CORPORATION NO DISCLOSURE OF
INFIRMATION IS INTENDED T DPERATE AS A LICENSE OR AUTHORIZATION TO USE IT_FOR ANY PURPOSE VITHOUT THE SPECIFIC WRITTEN CONSENT OF OVERHEAD DOOR CORPORATION.
€0 DATE DRAVING TITLD
ﬁ INDLOAD, OPTION CODE 2020
+ T CLARK 1/14/721 421/423/427/429/434/436,
L = .4/-12.7 PSF, 12'-2% MAX
r J QIAN 1/14/21
y v o1 Tt D- 411789
£, T CLARK | 4/27/21 ko N/A [se=i3 = 3



chris
Texas


		2021-05-03T10:37:51-0500
	John Christian Voelkel




